
2.0
[50.8]

4.4
[111.7}

1.8
[44.5]

A 01/17/202419284 INITIAL DRAWING REQUEST

A

MATERIALS:
BRACKET: ALUMINUM AND BLACK POWDER COAT
SCREW: #8-32 X 3/8" PAN HEAD STAINLESS STEEL
SPLIT LOCK WASHER: #8 STAINLESS STEEL
U-BOLT: 1/4-20 THREAD, STAINLESS STEEL
SPLIT LOCK WASHER: STAINLESS STEEL
HEX NUT: 1/4-20 THREAD, STAINLESS STEEL

INDIVIDUAL PACKAGING: APPROXIMATELY 0.199 Kg (.44 LBS)
INDIVIDUAL POLY BAG
MODEL INFORMATION PRINTED ON LABEL
MODEL BAR CODE PRINTED ON LABEL

MASTER PACKAGING: APPROXIMATELY 2.40Kg (5.3 LB)
12 PER MASTER CARTON

INSTRUCTION SHEET:
1 PROVIDED (ENGLISH, FRENCH, SPANISH)

#   INSPECTION ITEM

1

USED WITH MODELS 221ZL-* & 79243, 79240, 79241

REV. ECR DESCRIPTION DATE

MODEL DESCRIPTION CERT MARKINGS UPC UPC MASTER

93605 COMPACT BEACON MIRROR MOUNT BRACKET N/A 089373032740  089373032733

MODEL DRAWING

93605
SHEET 1 OF 1SCALE: 1:2 DO NOT SCALE FROM DRAWING

REVDWG.  NO.

TITLE:

DRAWN BY:

N/A

N/A
FINISH:

MATERIAL:

MODEL:

Ph:(585) 226-9500  Fax: (585) 226-2029
455 Rochester St.  Avon NY  14414
STAR Safety Technologies

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
STAR SAFETY TECHNOLOGIES ANY 
REPRODUCTION IN PART OR AS A WHOLE 
WITHOUT THE WRITTEN PERMISSION OF STAR 
SAFETY TECHNOLOGIES IS STRICTLY 
PROHIBITED.

TAUNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN INCHES
  

            TOLERANCES:   

         ANGULAR:   2 DEG. 
 

              .X            .100
              .XX          .020
              .XXX        .005 
              .XXXX      .001

RoHS:

93605

DRAWING APPROVED BY ECR 

Yes


	Part
	Drawing View1
	Drawing View2


